1.1.1

1-1

ST
Do
Di

Es

3.550m

S50

: 3.550 (m)
: 3.294 (m)
: 1.000 (m)
: 210000000 (kN/m?)

2.000m

2.900m

3.294m

3.4336m

3.550m

1.1.1
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2.000m



Q) 1

h : 0.125 (m)
Ne 22 ()

t- : 0.014 (m)
t :0.0030 (m)

IR IE-
i

tr

D

25t

A = 2 (t. h+25 t2)

2 x (0.014 x 0.125 + 25 x 0.00302 ) = 0.003950 (n?)

2 (tr h (t+h/2)+25 t*2 t/2)
2 (t. h+25 t2)
2x ( 0.014x 0.125x (0.0030 + 0.125 / 2 ) + 25x 0.0030 ® x 0.0030 / 2 )

2x ( 0.014x 0.125 + 25x 0.00302 )

0.0582 (m)

yi h+t-yo= 0.125 + 0.0030 - 0.0582 = 0.0698 ()

re =Dp/ 2 -yo=23.550 /2 - 0.0582 = 1.7168 (m)

2)

t vy 25 t vyl (25 t-t) (yo-t)d
2 ( + -
3 3 3
0.014x 0.0698° 25x 0.0030x 0.0582°%
< ( 3 ¥ 3

(25x 0.0030-0.014)x (0.0582-0.0030) °

- 3 ) = 0.000006190845 (m*)

Is
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3)

Zo = 1ls/ yo = 0.000006190845 / 0.0582 = 0.000106372 (m %)
Zi = 1s/ yi = 0.000006190845 / 0.0698 = 0.000088694 (m *)
4)
n 100 ()
¢ :1:0C)
€)

r2 : 1.6125 (m)
h2 : 0.325 (m)
y 2 : 23.500 (kN/m®)
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1-2

2.900m

3.2%m

3.4336m

3.550m

1.2.1

4-89

2.000m

Xa
Xs

Xe

(m
1.39549 , Y,
1.39549 , Ys
= 71.250°

1.26497 , Yc
= 1.26497 , Yo
= 76.655°

1.00000
-1.00000

(m)
1.00000
-1.00000



1-3

1.3.1

1.3.1
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1-4

@

&)

)

SM490
O - 215 (N/mm?)

O sca - 140 (N/mm?)
T sa - 80 (N/mm?)
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2-1
36 10°
31 1
OO
) X (m Yoom
25 0 0.00000 1.71680
26 10 0.29812 1.69072
27 20 0.58718 1.61326
28 30 0.85840 1.48679
29 40 1.10354 1.31515
30 50 1.31515 1.10354
31 54.375 1.39549 1.00000
1 125.625 1.39549 -1.00000
2 130 1.31515 -1.10354
3 140 1.10354 -1.31515
4 150 0.85840 -1.48679
5 160 0.58718 -1.61326
6 170 0.29812 -1.69072
7 180 0.00000 -1.71680
8 190 -0.29812 -1.69072
9 200 -0.58718 -1.61326
10 210 -0.85840 -1.48679
11 220 -1.10354 -1.31515
12 230 -1.31515 -1.10354
13 240 -1.48679 -0.85840
14 250 -1.61326 -0.58718
15 260 -1.69072 -0.29812
16 270 -1.71680 0.00000
17 280 -1.69072 0.29812
18 290 -1.61326 0.58718
19 300 -1.48679 0.85840
20 310 -1.31515 1.10354
21 320 -1.10354 1.31515
22 330 -0.85840 1.48679
23 340 -0.58718 1.61326
24 350 -0.29812 1.69072
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2-2

kh ks
ds”
kh = Kh ds"
ks = Ks ds"
2.2.1
(KN/1')
8C¢) Kh (kN/n%) Ks (kN/n) ds* (m) kh ks
25 0 0.000 0.000 0.29964 0.000 0.000
26 10 0.000 0.000 0.29964 0.000 0.000
27 20 0.000 0.000 0.29964 0.000 0.000
28 30 0.000 0.000 0.29964 0.000 0.000
29 40 0.000 0.000 0.29964 0.000 0.000
30 50 0.000 0.000 0.21536 0.000 0.000
31 54.375 0.000 0.000 0.06555 0.000 0.000
1 125.625 0.000 0.000 0.06555 0.000 0.000
2 130 0.000 0.000 0.21536 0.000 0.000
3 140 0.000 0.000 0.29964 0.000 0.000
4 150 0.000 0.000 0.29964 0.000 0.000
5 160 0.000 0.000 0.29964 0.000 0.000
6 170 0.000 0.000 0.29964 0.000 0.000
7 180 0.000 0.000 0.29964 0.000 0.000
8 190 0.000 0.000 0.29964 0.000 0.000
9 200 0.000 0.000 0.29964 0.000 0.000
10 210 3000.000 0.000 0.29964 898.914 0.000
11 220 3000.000 0.000 0.29964 898.914 0.000
12 230 3000.000 0.000 0.29964 898.914 0.000
13 240 3000.000 0.000 0.29964 898.914 0.000
14 250 3000.000 0.000 0.29964 898.914 0.000
15 260 3000.000 0.000 0.29964 898.914 0.000
16 270 3000.000 0.000 0.29964 898.914 0.000
17 280 3000.000 0.000 0.29964 898.914 0.000
18 290 3000.000 0.000 0.29964 898.914 0.000
19 300 3000.000 0.000 0.29964 898.914 0.000
20 310 3000.000 0.000 0.29964 898.914 0.000
21 320 0.000 0.000 0.29964 0.000 0.000
22 330 0.000 0.000 0.29964 0.000 0.000
23 340 0.000 0.000 0.29964 0.000 0.000
24 350 0.000 0.000 0.29964 0.000 0.000
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2-3

As m 0.0039500

E | kN 210000000

Is m* | 0.000006190845

El | KN 1300

El =E Is n
n 100 %
(@)
2.3.1
O
! J (m (m ™ () (KN/m) (kN )

1 1 2 0.13106 0.13109 0.0039500 0.0000062 210000000 1300
2 2 3 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
3 3 4 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
4 4 5 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
5 5 6 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
6 6 7 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
7 7 8 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
8 8 9 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
9 9 10 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
10 10 11 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
1 1 12 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
12 12 13 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
13 13 14 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
14 14 15 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
15 15 16 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
16 16 17 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
17 17 18 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
18 18 19 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
19 19 20 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
20 20 21 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
21 21 2 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
22 22 23 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
23 23 24 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
24 24 25 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
25 25 26 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
26 26 27 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
27 27 28 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
28 28 29 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
29 29 30 0.29926 0.29964 0.0039500 0.0000062 210000000 1300
30 30 31 0.13106 0.13109 0.0039500 0.0000062 210000000 1300
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2-4

2-4-1

€Y) Wg*

Wg" = Wg + Wg2 = 1.001 + 7.039 = 8.040 (kN/m)

Wg : 1.001 (KN/m)
Wg2
ha y2 L2
Wg2 = 1
0.325 x 23.500 x 7.9743
= = 7.039 (kN/m)
8.6521
Lr
L1 = Dc 6 1/ 360
= x 3.4336 x 288.750 / 360 = 8.6521 (m)
L2
L2 = Dc2 62/ 360
= x 3.2250 x 283.345 / 360 = 7.9743 (m)
Dc : 3.4336 (m)
Dc2 : 3.2250 (m)
h2 : 0.325 (m)
y2 23.500 (kN/m®)
X

- — sy
A Xa = 1.39549 , Y, = 1.00000
B Xe = 1.39549 , Yg = -1.00000
C Xc = 1.26497 , Yc = 1.00000
D Xo = 1.26497 , Yp = -1.00000
L1 = 8.6521m
L2 = 7.9743m
61 = 288.750°
0 2 = 283.345°
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@

D

Pvl
Ph1 l l Phl
Wg*"
Ph2 T T Ph2
Pv2
Pvl kN/m? 207.104
Ph1 kN/m? 166.428
Ph2 kN/m? 210.378
Wg " kN/m 8.040
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2) Pv1®

Pvli di
Pvl® = Pvl +
Dc - d1
207.104 x 0.3213
= 207.104 +

3.4336 - 0.3213

228.484 (kN/m?)

Pvl : 207.104 (kN/m?)
Dc : 3.4336 (m)
d : 0.3213 (m)
I
Pvit, |
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3) Pv2*

Pv2
Pvli® (Dc -dl)
Pv2 = + Pg
Dc
228.484 x (1 3.4336 - 0.3213 )
= + 20.259 = 227.363 (kN/m?)
3.4336
Pvl® : 228.484 (kN/m?)
Pg
Wg" L1 8.040 x 8.6521
Pg = = = 20.259 (kN/m?)
Dc 3.4336
Wg" 8.040 (KkN/m)
L1 : 8.6521 (m)
Dc : 3.4336 (m)
dl 0.3213 (m)
Pv2 d4
Pv2" =PV2 + —
Dc - d4
227.363 x 0.3213
= 227.363 + = 250.835 (kN/m?)
3.4336 - 0.3213
Pv2 227.363 (kN/m?)
Dc : 3.4336 (m)
d4 0.3213 (m)
pe2rl [ T ]

r;;,
BE

Dc
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®

Pv1*
SR N A A R 2
Wg*"
Ph2 T T T T Ph2
Pv2*
Pv1® kN/m? 228.484
Ph1 kN/m? 166.428
Ph2 kN/m? 210.378
Wg*" kN/m 8.040
Pv2* kN/m? 250.835
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Q)

XY
Y (kN/m X (kN/m) (kN/m)
Y X
1 -0.527 0.000 10.077 -10.433 0.000 9.550 -10.433
2 -1.732 0.000 36.616 -31.967 0.000 34.885 -31.967
3 -2.409 0.000 57.284 -39.304 0.000 54.875 -39.304
4 -2.409 0.000 64.760 -30.898 0.000 62.351 -30.898
5 -2.409 0.000 70.269 -21.300 0.000 67.860 -21.300
6 -2.409 0.000 73.643 -10.865 0.000 71.234 -10.865
7 -2.409 0.000 74.779 0.000 0.000 72.370 0.000
8 -2.409 0.000 73.643 10.865 0.000 71.234 10.865
9 -2.409 0.000 70.269 21.300 0.000 67.860 21.300
10 -2.409 0.000 64.760 30.898 0.000 62.351 30.898
11 -2.409 0.000 57.284 39.304 0.000 54.875 39.304
12 -2.409 0.000 48.067 46.227 0.000 45.658 46.227
13 -2.409 0.000 37.389 51.457 0.000 34.980 51.457
14 -2.409 0.000 25.576 54.869 0.000 23.167 54.869
15 -2.409 0.000 12.985 56.425 0.000 10.576 56.425
16 -2.409 -2.980 3.271 56.167 0.000 -2.118 56.167
17 -2.409 -11.828 0.000 54.201 0.000 -14.237 54.201
18 -2.409 -23.297 0.000 50.690 0.000 -25.706 50.690
19 -2.409 -34.058 0.000 45.826 0.000 -36.467 45.826
20 -2.409 -43.784 0.000 39.825 0.000 -46.193 39.825
21 -2.409 -52.179 0.000 32.902 0.000 -54.589 32.902
22 -2.409 -58.990 0.000 25.268 0.000 -61.399 25.268
23 -2.409 -64.008 0.000 17.121 0.000 -66.417 17.121
24 -2.409 -67.081 0.000 8.641 0.000 -69.490 8.641
25 -2.409 -68.115 0.000 0.000 0.000 -70.525 0.000
26 -2.409 -67.081 0.000 -8.641 0.000 -69.490 -8.641
27 -2.409 -64.008 0.000 -17.121 0.000 -66.417 -17.121
28 -2.409 -58.990 0.000 -25.268 0.000 -61.399 -25.268
29 -2.409 -52.179 0.000 -32.902 0.000 -54.589 -32.902
30 -1.732 -33.354 0.000 -27.407 0.000 -35.085 -27.407
31 -0.527 -9.179 0.000 -9.074 0.000 -9.706 -9.074
() -69.562 -711.109 0.000 -265.181 0.000 -743.824 -265.181
(+) 0.000 0.000 780.672 641.987 0.000 743.824 641.987
-69.562 -711.109 780.672 376.806 0.000 0.000 376.806
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2-5

X Y 23 24 2‘5 26
. -
Y
Ly
2.5.1
(kN)
C) X m rom X  Rx Y Ry Rh Rs
25 0 0.000 1.717
26 10 0.298 1.691
27 20 0.587 1.613
28 30 0.858 1.487
29 40 1.104 1.315
30 50 1.315 1.104
31 54.375 1.395 1.000 -226.581 329.017
1 125.625 1.395 -1.000 -239.850 -337.407
2 130 1.315 -1.104
3 140 1.104 -1.315
4 150 0.858 -1.487
5 160 0.587 -1.613
6 170 0.298 -1.601
7 180 0.000 -1.717
8 190 -0.298 -1.601
9 200 -0.587 -1.613
10 210 -0.858 -1.487 41,132
11 220 -1.104 -1.315 -4.181
12 230 -1.315 -1.104 -7.286
13 240 -1.487 -0.858 -10.129
14 250 -1.613 -0.587 -12.393
15 260 -1.601 -0.298 -13.790
16 270 -1.717 0.000 -14.095
17 280 -1.691 0.298 -13.174
18 290 -1.613 0.587 -11.009
19 300 -1.487 0.858 7.1
20 310 -1.315 1.104 -3.525
21 320 -1.104 1.315
22 330 -0.858 1.487
23 340 -0.587 1.613
24 350 -0.298 1.691
-466.431 -8.390 -98.425 0.000
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2-6

¢ | X (m Y (m (m
25 0 -0.009781 -0.016533 0.002471
26 10 -0.009782 -0.015104 0.007017
27 20 -0.009198 -0.012431 0.011124
28 30 -0.007698 -0.008904 0.014284
29 40 -0.005171 -0.005060 0.016237
30 50 -0.001730 -0.001422 0.017041
31 54.375 0.000000 0.000000 0.017105
1 125.625 0.000000 0.000000 -0.006608
2 130 -0.000644 0.000582 -0.006587
3 140 -0.001905 0.002051 -0.006227
4 150 -0.002781 0.003554 -0.005241
5 160 -0.003215 0.004820 -0.003534
6 170 -0.003266 0.005555 -0.001214
7 180 -0.003125 0.005534 0.001467
8 190 -0.003060 0.004677 0.004180
9 200 -0.003344 0.003072 0.006595
10 210 -0.004175 0.000956 0.008458
11 220 -0.005618 -0.001357 0.009616
12 230 -0.007603 -0.003549 0.009978
13 240 -0.009920 -0.005354 0.009483
14 250 -0.012264 -0.006614 0.008136
15 260 -0.014288 -0.007316 0.006025
16 270 -0.015680 -0.007592 0.003328
17 280 -0.016239 -0.007698 0.000302
18 290 -0.015923 -0.007940 -0.002734
19 300 -0.014868 -0.008597 -0.005421
20 310 -0.013365 -0.009828 -0.007371
21 320 -0.011794 -0.011598 -0.008198
22 330 -0.010530 -0.013641 -0.007569
23 340 -0.009814 -0.015488 -0.005384
24 350 -0.009649 -0.016597 -0.001874
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2-7

€H) ( )
i i N
( ) L
2.7.1
2.7.1
(6D} (kN _m/m) (KN/m) (KN/m)
i i i 1 i | i i i |

1 1 2 125.625 130 0.000 0.429 412.458 412.458 3.273 3.273
2 2 3 130 140 0.429 2.698 406.744 406.744 7.581 7.581
3 3 4 140 150 2.698 5.870 399.970 399.970 10.601 10.601
4 4 5 150 160 5.870 8.961 393.705 393.705 10.327 10.327
5 5 6 160 170 8.961 11.198 388.941 388.941 7.476 7.476
6 6 7 170 180 11.198 12.093 386.349 386.349 2.991 2.991
7 7 8 180 190 12.093 11.477 386.268 386.268 -2.059 -2.059
8 8 9 190 200 11.477 9.510 388.699 388.699 -6.572 -6.572
9 9 10 200 210 9.510 6.673 393.310 393.310 -9.479 -9.479
10 10 11 210 220 6.673 3.393 399.532 399.532 -10.962 -10.962
11 11 12 220 230 3.393 -0.251 406.740 406.740 -12.177 -12.177
12 12 13 230 240 -0.251 -4.045 414.196 414.196 -12.676 -12.676
13 13 14 240 250 -4.045 -7.656 420.943 420.943 -12.069 -12.069
14 14 15 250 260 -7.656 -10.688 425.900 425.900 -10.130 -10.130
15 15 16 260 270 -10.688 -12.750 428.009 428.009 -6.889 -6.889
16 16 17 270 280 -12.750 -13.540 426.717 426.717 -2.641 -2.641
17 17 18 280 290 -13.540 -12.841 422.118 422.118 2.334 2.334
18 18 19 290 300 -12.841 -10.499 414.384 414.384 7.827 7.827
19 19 20 300 310 -10.499 -6.451 403.814 403.814 13.528 13.528
20 20 21 310 320 -6.451 -0.732 391.135 391.135 19.110 19.110
21 21 22 320 330 -0.732 6.196 377.515 377.515 23.151 23.151
22 22 23 330 340 6.196 12.789 364.712 364.712 22.029 22.029
23 23 24 340 350 12.789 17.709 354.693 354.693 16.441 16.441
24 24 25 350 0 17.709 20.044 349.002 349.002 7.805 7.805
25 25 26 0 10 20.044 19.456 348.491 348.491 -1.966 -1.966
26 26 27 10 20 19.456 16.230 353.176 353.176 -10.780 -10.780
27 27 28 20 30 16.230 11.227 362.235 362.235 -16.718 -16.718
28 28 29 30 40 11.227 5.736 374.153 374.153 -18.350 -18.350
29 29 30 40 50 5.736 1.257 386.990 386.990 -14.966 -14.966
30 30 31 50 54.375 1.257 0.000 396.737 396.737 -9.591 -9.591
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4-104

)

(kN m/m)

25 25 0 20.044
17 17 280 -13.540
CHl arm

25 25 0 348.491
17 17 280 422.118
COl am

21 21 320 23.151




2-8

M= M (1+C )
Q=0Q
N = No

Mo (kN m/m)

Qo (kN/m)

No (kN/m)

¢ 0 (%)

B 1.000 (m)

(D) (kN _m) (kN) (kN)
i i i i i i i i i i

1 1 2 125.625 130 0.000 0.429 412.458 412.458 3.273 3.273
2 2 3 130 140 0.429 2.698 406.744 406.744 7.581 7.581
3 3 4 140 150 2.698 5.870 399.970 399.970 10.601 10.601
4 4 5 150 160 5.870 8.961 393.705 393.705 10.327 10.327
5 5 6 160 170 8.961 11.198 388.941 388.941 7.476 7.476
6 6 7 170 180 11.198 12.093 386.349 386.349 2.991 2.991
7 7 8 180 190 12.093 11.477 386.268 386.268 -2.059 -2.059
8 8 9 190 200 11.477 9.510 388.699 388.699 -6.572 -6.572
9 9 10 200 210 9.510 6.673 393.310 393.310 -9.479 -9.479
10 10 11 210 220 6.673 3.393 399.532 399.532 -10.962 -10.962
11 11 12 220 230 3.393 -0.251 406.740 406.740 -12.177 -12.177
12 12 13 230 240 -0.251 -4.045 414.196 414.196 -12.676 -12.676
13 13 14 240 250 -4.045 -7.656 420.943 420.943 -12.069 -12.069
14 14 15 250 260 -7.656 -10.688 425.900 425.900 -10.130 -10.130
15 15 16 260 270 -10.688 -12.750 428.009 428.009 -6.889 -6.889
16 16 17 270 280 -12.750 -13.540 426.717 426.717 -2.641 -2.641
17 17 18 280 290 -13.540 -12.841 422.118 422.118 2.334 2.334
18 18 19 290 300 -12.841 -10.499 414.384 414.384 7.827 7.827
19 19 20 300 310 -10.499 -6.451 403.814 403.814 13.528 13.528
20 20 21 310 320 -6.451 -0.732 391.135 391.135 19.110 19.110
21 21 22 320 330 -0.732 6.196 377.515 377.515 23.151 23.151
22 22 23 330 340 6.196 12.789 364.712 364.712 22.029 22.029
23 23 24 340 350 12.789 17.709 354.693 354.693 16.441 16.441
24 24 25 350 0 17.709 20.044 349.002 349.002 7.805 7.805
25 25 26 0 10 20.044 19.456 348.491 348.491 -1.966 -1.966
26 26 27 10 20 19.456 16.230 353.176 353.176 -10.780 -10.780
27 27 28 20 30 16.230 11.227 362.235 362.235 -16.718 -16.718
28 28 29 30 40 11.227 5.736 374.153 374.153 -18.350 -18.350
29 29 30 40 50 5.736 1.257 386.990 386.990 -14.966 -14.966
30 30 31 50 54.375 1.257 0.000 396.737 396.737 -9.591 -9.591
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2-9

M= Mo L3 ( 1+ Z )
Q=Q Ls
N = No L3

Mo (kN m/m)

Qo (kN/m)

No (kN/m)

¢ 0 (%)

Ls 1.250 (m)

(D) (kN _m) (kN) (kN)
i i i i i i i i i i

1 1 2 125.625 130 0.000 0.536 515.572 515.572 4.091 4.091
2 2 3 130 140 0.536 3.372 508.430 508.430 9.476 9.476
3 3 4 140 150 3.372 7.338 499.963 499.963 13.251 13.251
4 4 5 150 160 7.338 11.201 492.131 492.131 12.909 12.909
5 5 6 160 170 11.201 13.998 486.176 486.176 9.345 9.345
6 6 7 170 180 13.998 15.116 482.936 482.936 3.739 3.739
7 7 8 180 190 15.116 14.346 482.835 482.835 -2.574 -2.574
8 8 9 190 200 14.346 11.888 485.874 485.874 -8.215 -8.215
9 9 10 200 210 11.888 8.341 491.638 491.638 -11.849 -11.849
10 10 11 210 220 8.341 4.241 499.415 499.415 -13.702 -13.702
11 11 12 220 230 4.241 -0.314 508.425 508.425 -15.221 -15.221
12 12 13 230 240 -0.314 -5.056 517.745 517.745 -15.845 -15.845
13 13 14 240 250 -5.056 -9.570 526.179 526.179 -15.086 -15.086
14 14 15 250 260 -9.570 -13.360 532.375 532.375 -12.663 -12.663
15 15 16 260 270 -13.360 -15.938 535.011 535.011 -8.611 -8.611
16 16 17 270 280 -15.938 -16.925 533.396 533.396 -3.301 -3.301
17 17 18 280 290 -16.925 -16.051 527.648 527.648 2.918 2.918
18 18 19 290 300 -16.051 -13.124 517.980 517.980 9.784 9.784
19 19 20 300 310 -13.124 -8.064 504.768 504.768 16.910 16.910
20 20 21 310 320 -8.064 -0.915 488.919 488.919 23.888 23.888
21 21 22 320 330 -0.915 7.745 471.894 471.894 28.939 28.939
22 22 23 330 340 7.745 15.986 455.890 455.890 27.536 27.536
23 23 24 340 350 15.986 22.136 443.366 443.366 20.551 20.551
24 24 25 350 0 22.136 25.055 436.252 436.252 9.756 9.756
25 25 26 0 10 25.055 24.320 435.614 435.614 -2.457 -2.457
26 26 27 10 20 24.320 20.288 441.470 441.470 -13.475 -13.475
27 27 28 20 30 20.288 14.034 452.794 452.794 -20.898 -20.898
28 28 29 30 40 14.034 7.170 467.691 467.691 -22.938 -22.938
29 29 30 40 50 7.170 1.571 483.738 483.738 -18.708 -18.708
30 30 31 50 54.375 1.571 0.000 495.921 495.921 -11.989 -11.989
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3-1
0o =N / As + M / Zo (N/mmz)
ci =N/ As - M/ Zi (N/mm?)
As 3950 (mm?)
Zo 106372 (mm®)
Zi 88694 (mm®)
N N)
(N mm)
( -)
3-2
@
[N/mm?]
, M N N/ A M/ z M/ Z; o o
(D) (kN _m) (kN) 0 i 0 '
1 1 125.625 0.000 412.458 104.420 0.000 0.000 104.4 104.4
1 2 130 0.429 412.458 104.420 4.033 4.837 108.5 99.6
2 2 130 0.429 406.744 102.973 4.033 4.837 107.0 98.1
2 3 140 2.698 406.744 102.973 25.364 30.419 128.3 72.6
3 3 140 2.698 399.970 101.258 25.364 30.419 126.6 70.8
3 4 150 5.870 399.970 101.258 55.184 66.183 156.4 35.1
4 4 150 5.870 393.705 99.672 55.184 66.183 154.9 33.5
4 5 160 8.961 393.705 99.672 84.242 101.033 183.9 -1.4
5 5 160 8.961 388.941 98.466 84.242 101.033 182.7 -2.6
5 6 170 11.198 388.941 98.466 105.272 126.254 203.7 -27.8
6 6 170 11.198 386.349 97.810 105.272 126.254 203.1 -28.4
6 7 180 12.093 386.349 97.810 113.686 136.345 211.5 -38.5
7 7 180 12.093 386.268 97.789 113.686 136.345 211.5 -38.6
7 8 190 11.477 386.268 97.789 107.895 129.400 205.7 -31.6
8 8 190 11.477 388.699 98.405 107.895 129.400 206.3 -31.0
8 9 200 9.510 388.699 98.405 89.403 107.223 187.8 -8.8
9 9 200 9.510 393.310 99.572 89.403 107.223 189.0 -7.7
9 10 210 6.673 393.310 99.572 62.733 75.236 162.3 24.3
10 10 210 6.673 399.532 101.147 62.733 75.236 163.9 25.9
10 11 220 3.393 399.532 101.147 31.898 38.255 133.0 62.9
11 11 220 3.393 406.740 102.972 31.898 38.255 134.9 64.7
11 12 230 -0.251 406.740 102.972 -2.360 -2.830 100.6 105.8
12 12 230 -0.251 414.196 104.860 -2.360 -2.830 102.5 107.7
12 13 240 -4.045 414.196 104.860 -38.027 -45.606 66.8 150.5
13 13 240 -4.045 420.943 106.568 -38.027 -45.606 68.5 152.2
13 14 250 -7.656 420.943 106.568 -71.974 -86.319 34.6 192.9
14 14 250 -7.656 425.900 107.823 -71.974 -86.319 35.8 194.1
14 15 260 -10.688 425.900 107.823 -100.478 -120.504 7.3 228.3
15 15 260 -10.688 428.009 108.357 -100.478 -120.504 7.9 228.9
15 16 270 -12.750 428.009 108.357 -119.862 | -143.753 -11.5 252.1
16 16 270 -12.750 426.717 108.030 -119.862 | -143.753 -11.8 251.8
16 17 280 -13.540 426.717 108.030 -127.289 | -152.660 -19.3 260.7
17 17 280 -13.540 422.118 106.865 -127.289 | -152.660 -20.4 259.5
17 18 290 -12.841 422.118 106.865 -120.718 | -144.779 -13.9 251.6
18 18 290 -12.841 414.384 104.907 -120.718 | -144.779 -15.8 249.7
18 19 300 -10.499 414.384 104.907 -98.701 -118.373 6.2 223.3
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19 19 300 -10.499 403.814 102.231 -98.701 -118.373 3.5 220.6
19 20 310 -6.451 403.814 102.231 -60.646 -72.733 41.6 175.0
20 20 310 -6.451 391.135 99.022 -60.646 -72.733 38.4 171.8
20 21 320 -0.732 391.135 99.022 -6.882 -8.253 92.1 107.3
21 21 320 -0.732 377.515 95.573 -6.882 -8.253 88.7 103.8
21 22 330 6.196 377.515 95.573 58.248 69.858 153.8 25.7
22 22 330 6.196 364.712 92.332 58.248 69.858 150.6 22.5
22 23 340 12.789 364.712 92.332 120.229 144.192 212.6 -51.9
23 23 340 12.789 354.693 89.796 120.229 144.192 210.0 -54.4
23 24 350 17.709 354.693 89.796 166.482 199.664 256.3 -109.9
24 24 350 17.709 349.002 88.355 166.482 199.664 254.8 -111.3
24 25 0 20.044 349.002 88.355 188.433 225.990 276.8 -137.6
25 25 0 20.044 348.491 88.226 188.433 225.990 276.7 -137.8
25 26 10 19.456 348.491 88.226 182.905 219.361 271.1 -131.1
26 26 10 19.456 353.176 89.412 182.905 219.361 272.3 -129.9
26 27 20 16.230 353.176 89.412 152.578 182.989 242.0 -93.6
27 27 20 16.230 362.235 91.705 152.578 182.989 244.3 -91.3
27 28 30 11.227 362.235 91.705 105.545 126.581 197.2 -34.9
28 28 30 11.227 374.153 94.722 105.545 126.581 200.3 -31.9
28 29 40 5.736 374.153 94.722 53.924 64.672 148.6 30.1
29 29 40 5.736 386.990 97.972 53.924 64.672 151.9 33.3
29 30 50 1.257 386.990 97.972 11.817 14.172 109.8 83.8
30 30 50 1.257 396.737 100.440 11.817 14.172 112.3 86.3
30 31 54.375 0.000 396.737 100.440 0.000 0.000 100.4 100.4
)
0o N/mm? 322.5 276.8
O i N/mm? 322.5 260.7
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4-1

1 LJ 1
13 .. 13
L1
4.1
@
( ) H-400x 200x 8x 13 _ sz
B : 200 (mm) K
T2 : 13 (mm) \
A : 400 (mm) A - = —X
T1 -8 (mm) i
w1 : 0.654 (kN/m) |
I 1
Al : 83.370 (cm?) ‘Y
11 : 23500 (cm*)
Z1  : 1170.0 (cmd) 4.1.1
&)
Rmax Wils
[11
Rmax =7V Rx® + Ry? =7 (-239.850 )? + ( -337.407 )* = 413.971 (kN/m)
Rx : [1] X -239.850 (kN/m)
Ry : [1] Y -337.407 (kN/m)
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4-2

@

Mmax

Qmax

Wls

Wls = w1 |sin@ |
= 0.654 x
= 0.532 (kN/m)

= 413.971 + 0.532 = 414.502 (kN/m)

Qmax

Ra = Rs = 518.128 (kN)

1.2
W
Rmax + Wls
Mmax
W L1? 414.502 x 2.5002
12 - 12
W L1 414.502 x 2.500
2 - 2

L1
Mmax 215.887 x 10°
2 1170.0 x 103
Qmax 518.128 x 10°
AL 83.370 x 102
H-125x 125x 6.5% 9
B : 125 (mm)
T2 : 9 (mm)
A : 125 (mm)
T1 - 6.5 (mm)
A2 : 30.000 (cm?)

4-110

= 215.887 (kN m)

= 518.128 (kN)

2.500 (m)

184.518 (N/mm?2)

62.148 (N/mm?)

|sin(125.625° )|

L1

T

Ra

4.1.3

4.2.1

Rs



@

Ra

N = Ry = Ry = 518.128 (kN)
N 518.128 x 103 ,
o = = = 172.709 (N/mm
. A2 30.000 x 102 (N/mm®)
4-3
@ .
H-125x 125x 6.5% 9 | ‘ |}
B : 125 (mm) ' | 112
T2 : 9 (mm) \
A : 125 (mm) e —X
T1 : 6.5 (mm) ~p1
A3 : 30.000 (cm?) |
V[ ]
L3 :1.250 (m) v
4.3.1
@)
Nmax = 535.011 (kN)
Nmax 535.011 x 103
Os3 = = , = 178.337 (\/mm?)
A3 30.000 x 10
4-4
0 N/mm? 210 184.518
Ts1 N/mm? 120 62.148
(o)) N/mm? 210 172.709
O s N/mm? 210 178.337
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